
UG250−2A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2
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02 26s Y 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=145.0
A2=8.54
A3=0.8=t
A6=991.2
A7=14.6
∆=35.78



UG250−2A_2

log(L/∆L) Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

02 26s Y 6,3cd/m2; hyp3
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=145.0
A2=8.54
A3=0.8=t
A6=991.2
A7=14.6
∆=35.78



UG250−2A_3

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

02 26s Y 6,3cd/m2; hyp3
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=145.0
A2=8.54
A3=0.8=t
A6=991.2
A7=14.6
∆=35.78



UG250−2A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

02 26s Y 6,3cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=145.0
A2=8.54
A3=0.8=t
A6=991.2
A7=14.6
∆=35.78


